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Prototype Na(OH)6Sb

AFLOW prototype label AB6C tP32 86 c 3g d-001

Strukturbericht designation J111

ICSD 4211

Pearson symbol tP32

Space group number 86

Space group symbol P42/n

AFLOW prototype command aflow --proto=AB6C_tP32_86_c_3g_d-001

--params=a, c/a, x3, y3, z3, x4, y4, z4, x5, y5, z5

Other compounds with this structure
AgSb(OH)6

• The atomic positions were originally determined using setting 1 of space group P42/n #86. We used FINDSYM to
change the origin to setting 2.
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• The sites labeled “O” are actually OH radicals.

• Although the replacement of fluorine by OH does not affect the shape of the Sb-(F,OH)6 ions, it has a profound effect on
the structure, as can be seen by looking at NaSbF6 and NaSbF4(OH)2 (J112).
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ẑ (8g) O II

B25 = x5 a1 + y5 a2 + z5 a3 = ax5 x̂ + ay5 ŷ + cz5 ẑ (8g) O III
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ẑ (8g) O III

B28 =
(
y5 + 1

2

)
a1−x5 a2+

(
z5 + 1

2

)
a3 = a

(
y5 + 1

2

)
x̂− ax5 ŷ + c
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ŷ − c

(
z5 − 1

2

)
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